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?E% & ®| 60| 90| M4| 25| B8 330 352| 346 | 39| 5.0 19.5| 19 35.2
E £ B | B2 5,250 28,24 3. 220 26,2667 33,2813 25,22} 26, 1113 3L.7 [l 28,1 3 34.4 |3 20,2 IR 251 2
| & &| -3L8| -8L.8 | 27.8 | -14.6 | 9.0 | 2.0 3.0 50 | 25| 9.6 -2L1 | -2,0 -31.8
£ B |1 28,2758 28,1008 29.14/8 28.2 FA 33,2187 31.12p3 35.9 R 31.29[i 30. 28|6% 25.250R 28,26fR 35. R 28.1.27,1. 10
B o=
ARE 2 FH 0.5 0.3 0.5 1.3 1.6 1.8 1.8 1.6 1.3 0.9 0.5 0.3 1,0
&4 £ 2.73| 3.37] 4.8 s5.61] 6.9 5.54) 13.600 7.57| 11.88| 9.90 5.10| 3.8 6.70
% Bk 11.62| 5.66 7.99| 14,45 16,93 22,13| 26,76| 22,39 22.89| 17.82| 13.60] 11.% 26,76
% - £ B |8 24,2853 29,1007 32,7 PR 34,307 32,2003 33.22|FF 30.20[#3 35.7 FZ 29,100 30.6 |7 33,3 |8 29.2 |#E 30.WL 20
(7739 b N 0.18| 0,54 1,9 1.37| 286| 4.91| 4,06/ 5.8| 1,56/ 3,34 1,75 1.10 0.18
& B | 28,1303 28,1958 27.1 {7 28.30(8 28.1 B8 32,3 fR 33.1 FE 27,1008 28.7 |FE 23,2518 35,9 PR 35.31)0% 281,13
s LT #| 850 87,1 | 899 | 67.7 | 61,7 | 68,9 | 8LO}| 729 | 758 | 73.1 79.5] 8.9 77.5
g &L B 6,0 | 24,0 45,0 16,0 { 23,0| 37.0| 49.0{ 40.0| 10.0| 33.0{ 320| 29,0 6.0
&£ B | #B28,3 [FE 28,21 R 28,177 29.27|/ 34,1 |#3 27. 2583 30.27|#F 33,153 28.7 |#F 26.1 R 34.9 [FR 25.27|f8 28.1.3
B ~0.6 | -1.6 | ~0.4 1,3 1.6 | 12,6 | 16.6 17.1} 16.1 9.6 4,6 1.4 7.4
# o.ISn B OB L5 3.0 3.0 45| 13,0| 18,0] 20.5 22.8 19,8} 157 | -10,0 8.5 122,818 25,/ 22
B % K| -0.1| -40] -3.0| -0.5 0.1 7.5 12.0 15,0 14,5 65| -0.1| -30 |4.,0M32,1.20
B F*BH 3.3 2,8 2.3 2.2 4.8 8.7 12.0 13.4| 14,9 129 9.5 5.9 10,2
& L0 tg & 6.0 4.3 3.0/ 45| 90| 15| 15.8 20,6| 18.0 | 15.0] 11.8| 8.5 |20.6%% 251022
e ' (K 1.8 1.2 1.0 2,0 2.0 5.1 7.0 12.0{ 13.0 9,2 5.6 | —4,5 |-4.5/8 350 31
K oo 5.5 3.9 3.5 3.5| 37 5.5{ 12,9 8,4} 1.6 | 11.3| 10,0} 7.9 7.3
% 20 | & B 7.6 6.0 5.0 5.5 5.5 7.0 9,8 13,0f 13.0| 12.5| 12,5 9.5 13.08334.V8. 31, [{. 1
B K 5.4 4,0 3.5 2.7 25 3.3 5,1 7.5{ 9.5 | 10.0 8.0 6.0 |25 35.V.151617
wmi|A& & F ¥| 23.2| 24.4 | 358 | 64,1 | 63,4 | 116,7 | 116,1 | 116,2{ 144.4 | 9L8 | 60.7 | 40,6 781.3
% 2 48%R9| 65,7 | 20.7 | 169.0 | 56.5| 58,5 | 68.5 | 181.0 | 97.5|107.6 | 69.5 | 47.3 | 82,5 1810
| = £ B | B8.12p8 27.5 JF 35,133 32,265 28,24/% 29,4 |3 35,113 25,153 33.19FR 28,1003 34.8 A 5.1 f§ 35.1L11
2 & ¥ & 4,8 5,3 6.1 5.9 6.6 7.2 6.6 6,8 6.7 55 5.0 4.9 6.0
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® il 98| 85| 65| 7.0} 49| 49} 36| 34| 57| %o0| 11.0| 13.1 87.4
*5 | K| 115 88 | 10.9 | 10.2 | 10,1 7.4 8.8 11.0| 11.0| 12,8 | 10.8 9.5 122,8
‘ & PS 9.5 10,1 | 13.4 | 12,7 | 160 | 17.8 | 21.6 18,1 16,3] 12,3 | 10.7 | 11,4 169,9
21 5§ 0.4 0.1 1.2 5.3 9,2 8.1 10,1 10,6 9.9, 7.8 4.1 2.6 69.4
g 8.2 7.3 6.5 2.4 0.4 0 0 0 0 0.1 3.4 6.8 35,1
a ® 0 0 0 0 0 0 0 0 0.1 7.3 5.1 0.1 12,6
z =z 0 0 0 0.1 0 0 0 0 0 0 0.2 0 0.3
#| E B 0 0 0.2 { 0.4 0 0.2 0.3 0.5 0.2 o 0 0 1.8
% R, 1.3 0 0.8 0.° 05 .8 2.3 2.1 0.4] 0.4 0.2 0.1 9,2
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